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MATH7-8THGRADEWARM 143MR-Alfredo Alvarez
—w o=y GBS 0320
'Student: Instructor: Alfredo Alvarez Assignment: O? ¢ /7
Date: Course: Math 0410/ 0320 Alvarez MATI_-I?-BTHG_BA_[_)_E_W,_C\RMJ45MR 0!_’3' %
1. Fillin the blank below. &

7z
The numbers 0, 1,2, 3,4,5.6,7,8,9, 10, 11, 12,... are called numbers. 74
The numbers 0, 1,2, 3,4, 5,6, 7, 8,9, 10, 11, 12,... are called (1) %mbers.
(1} O whole
} natural
Ansiver: (1) whole
: - 3 C
2. Find the perimeter of the figure. B pP=At
k5o et P2 SH] A/
/ z [lFro
10 feet @"*\
The perimeter is ! !feet -
Answer; 22
.
3. 7 meters
Find the area and the perimeter of the rectangle shown to the right. 7 . :
o e S5meters b
' = 2L FR W
The area of the rectangle is 1 —
des|___— p=2(7)+2(5)
/YT /9

The perimeter of the rectangle is (2) —_—
— (PR

(1) O square meters. {2) O cubic meters,

) meters. () square meters.
(O cubic meters. O meters. /4 =L
/4 = (7) (s)

Answers 35 @

(1) square meters,

24

(2) meters.

31172019, 6:37 Pv
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e
[ 3
4. One triple fudge brownie contains 115 calories. How many calories are in 7 triple fudge brownies? / /j'
[ _ Z
calories Y7 X 7
[(wy= (45C7) 705
Answer. 805 - a—
A
— T = — ™ _'_'_'_._'_._'_._
5. Find the average value of the following list of numbers. ks {5 it / 9 "IL dL+42LF2% s
10, 22, 22, 26, 15, 19 G /9
| /Y 6 11y
The average value is l =
& - (6]
ST
Answer: 19 /9‘ - — (£¥/
8. Simplify. 32 +7 Y =
32+7+4 22 5 2¥ =
Select the correct choice below and, if necessary, fill in the answer box to complete your choice(m'
-_—-———-'-.‘/
(A, 32+47.4= 3&
() B. The expression is undefined. + A,
GO
Answer; A 32+7+4= 60
7. Simplify. G817 7=
v =
68477 ¥t 7 7
I+ 77 =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(A, 6+8B+7+7= 6‘
i 7

() B. The expression is undefined. + &g

Answer:A.6-8+7'7=| 97 i Ci 7

g e e

8. Evaluate the expression for x=2 and z=4. é {@ —§&x =

Bxz ~ 5x 6(7—)( ¥) ST?—) N :;(_f__
Bxz - 5x = ¢C g) #‘S-(l) - ¥4 5

4§ —/90 =
Answer; 38 <..F~—~g‘ 37_ -,;__‘“:

2ol 53 3/17/2019, 6:37 PM
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9. Evaluate the expression forx=2,y=5,andz=4. f--‘—é'—' - _/__1 _
X+ 2y __) S/
z 2—) -f e (t‘ z
X+ 2y ’_-—I (‘f)
z 2+ /° _
Answer: 3 (f
10. Evaluate the algebrzic expression for the given value. /\/ [‘__ 5—)(,.(. f = ?3 7
—J3
X% -5x+8, forx=7 (7) L (7)17F = - [ <
When x=7, x> -5x+8= . . (7)(7)"‘ Y(?)‘T‘f: /'-(/
(Simplify your answer.) =
g — 35+ JF + 7
Answer: 22 / Cf”f‘_ff- 2 _

11. Fill in the blank below.

The numbers ...-3, -2, =1,0, 1, 2, 3,... are called

= = -_ —=ﬂ‘b\
The numbers .- 3, =2, =1, 0, 1,2, 3,... are called (1 /'7["__;_:_”3;;

(1) O whole numbers. () integers.
() natural numbers,
(O positive numbers.
() negative numbers.

@swer: (1) integers.

12. Add: -7+5 ~7t+5=
Answer: -2
13. Add. — Y/ +5F Y
-41458 - ”_'___Z-/J
(7] = {7
-41+58=
Answer: 17

3ol 53 3/17/2019, 6:37 Pv
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14, Subtract.

5-6
5-6=
Answer: -1
15. Subtract. — 6 —_ =
-6-4=
Answer: - 10

16. Multiply. . C(—S) -

-6(-5)

Answer: 30

17.  Multiply. e (g) -

- 5(6)

e (30

Answer: - 30

8. Multiply.
3(-3)

-3)=

Answer; -9

4ol 53 3172019, 6:37 PM
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19. Find the quotient. —¥7
-42 /
7 =
Select the correct choice below and fill in any answer boxes in your choice.
: -42
O A ——=

(") B. The answer is undefined.

- 42

Answer: A. T = -6 !

20. Find the quotient.

=33

-11

Select the correct choice below and fill in any answer boxes in your choice.

-33
A — =
QA —

() B. The answer is undefined.

-33

Answer: A. -:? = 3

21. Find the following quotient. . 3 f /
£ -, T Z)37

Select the correct choice below and fill in any answer boxes in your choic

o 38 — (/v
DA —=
- 2 i
() B. The answer is undefined. o 4
38
Answer: A, —— = -19%

-2

Fof353 3/17/2019.6:37 P™
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22, Simplify.

17 -1

17-11 -7
-2
Answer; -3 '—3 <

https://xlitemprod.pearsoncmg.com/api/vl/print/ma

23. Solve. Check your solution.

X+yct/

x+4=21
> z U—y
The solution is x= ; X /(/i\
Answer: 17 C\//

CAAl. Xt = 2/
(UD+¢= 2/
[7~+¢ = ZI

21=2

— G—OML

dof=-

24. Solve, Check your solution.

Chet d—i=—¢

d-1= -6 é_(%:—-c-r/ (=)~ <
Thesoltionisd=[ | (A PN ——( T —6
S e _
Answer: -5 - 60.: c
= e N 0o VL
25. Solve. Check your solution. 2§ < ‘jr-'é ALl 257= I— G
e 1§ e 2y it e
The solutionis y = ; "3_]_--,.: j —¢
L= 2
A S oAl
26. Solve. 2 Xy Cht 4 X =
2x= 4 L~ Y 2(2) c v
The solution is x=[ ) 7..-_ = (7/,__ (/
Answer: 2 ’(': = O—ov Lk
27. Solve. —7 = 6 Cﬁ?%_ = 6
-2z= 6 “:ﬁ‘_z“_ - _& —Z (%) =
The solution isz=:. _ '—'L S G z
Answer; -3 Q% - 33 C ’Udk

6ol 53
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lal
28. Solve. — z '—X .__//) . -
n 7 Ze
T HL) 7Y - g

7

The solution is n =[ ! B sy
> 7= -3
Answer. — 56 -

ol . : 2 _____Q;“O_d/L

29. Solve. _M//-Z_C-ﬁ’ﬁu .C};.{(’L HZ = -5 95
112=-99 /I?‘z-—€€ /1 ("‘"{:‘/:_57

The solution is z= ; H _ _\/I — 19 = -59
Answer; -9 é: =1 6“(.}0
30. Solve. "“3)(':. ) Ci’(;o,\é:_ 3

~3x=-3
~3x ~ —3% =3/(1) 2~
The solutionisx= |, f_'; -y g)_— _;

7
Answer: 1 ( )( ,:_/_“‘ﬁ (—ov A_

- - —

<
31, Solve the equation. First combine any like terms on each side of the equation. /{‘f(,k

_ —q c-F+3
Xx-9=-8+3 /*/'*'6’- = '—ﬁ"f‘3 (;5 ,_Ci-/ - —F-+7
The solution isx=:. yfﬁ - —5 Yf—G = —F+3
Answer: 4 (F%ﬁ/ S 7 S = -
P il AT N 2 LN
32. Solve the followi i Q C;‘("é—_? =
. Solve the following equation. 7)(,71?: o Xwdy=O
7x~14=0. 7% ,-//«,/71-/{2. Tl 7(2)“/‘?’ =
x=[ ] TX = /Y /Y—-(j/:a
o Z <4 e
b G (1 Govel
33. Solve the equation. 5"%—74 20 =25 C/’;-‘,% .S—”—f o<l
5n+20=25 5'77—'7‘/0_/75/‘? e ls—Liy f-({) 700 = 2¢
e Slos L
€4 — s A=
[

Answer: 1 5 e Gd o Ck
o = N S _

F — —_—
S

7 of 53 ' 3/17/2019. 6:37 P\
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34, Solve the equation. Z'X__ 6 = 5)('7/‘3 = ﬂ:_é{’:' -.j_
Ix-6=3x+3 ZX’%?‘—/(: 3/{—7"3 + G - -
o L = S X X=—-a
2X~3X = 3X+9—~3X
o Answer: -9 —1 )< =
35. Solve the equation. 20 "'"5-)( /3 X “7)(2 -—7
20-5x =13 +2x ?/{r)(ﬁzfa (% L —2O == :—7
1 TSX T 2v -7
Answer: 1 ""5—-,("—"2,% = &[’.7 -_2—?(
T e e '_7/( ""7 . _":P.ff-.f —
36. Solve the equation. 3 7 %67 -—7 - /6‘7 /(& _27 '_-37 :—9(27
37+6y-1=16y~12-2y 6‘7 ~+ 36 = /L,Aj —| 2 —-sz 4
y=<[ ] 69 +36-26<= (¥]~(L 16 —7 -7

b9 —/Ny =/ T TIYT _

37. Solve the equation.

~3c+1=-8 —3C ;/ F—/
~3C = —F—
N — “
—3C =
Answer: 3 _3C
e — e = _Z . B .
38. Find the prime factorization of the following number. /?f,m,(, l . 3 ), S /2 / // / 2’ ‘

o (e

The prime factorization of 42 is L EY RN
V4
Answer: 3-2-7 7 ’

39. ‘é’ (/‘/"') =
Find — of 140.
4 / VS,
—— '_.-—'-_ -
1 gt .
a of 140 is |. {Simplify your answer. Type a whole number, fraction, or mixed number.) / G2
e S
3 57 ¥
Answer. 35
/5o 3=
~TT T T—
2o

80f 53 - — O 3/17/2019.6:37 PV
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4/63) e A AL

40, 4
Find ) of 63, Write the answer in simplest form. 2& }@ 366/3
(65’) I3 2
‘ of 63 is . {Simplify your answer.) / J 7 U
oy im ”,
9 — (2)(0 (](3)(/ @)(C)P}?g_/
Answer: 28 CE} (3) ﬁ ,(5'7/(3/‘
1.3 Sp—— e —— e c—— e // — -_...____\__‘__._ .....
41, Subtract and check the following. / 5—7: c
15-3.5 — 3.8
15-35= ) (Type an integer or a decimal.)
Answer: 11.5 .
. B S
42. A landscape architect is planning a border for a 24.22 feet ———> / = A ~ B +C
flower garden shaped like a triangle. The sides ~ 2y 2 22
of the garden measure 17.3 feet, 24.22 feet, / np- 17 3+ fi2e -+ a
and 22.9 feet. Find the amount of border
material needed, }
[7.20
The amount of border material needed is] feet. 2‘_}( 2
. . - [}
{Type an integer or a decimal.) 22.%0
Answer: 64.42 GY. %
43. Use the values of the coins given below. Write the value of the group of coins shown ATy
to the right. To do so, it is usually easiest to start with the coin(s) of greatest value K LD X
and end with the coin(s) of least value. W2 /0 S k‘g
Penny  Nickel Dime Quarter X X L X
o, S > v & @
(2 @ k 0
= g L SO
SOOT  S005  BOI0  $0.25 ¢ L2
J
The total value of the group is Sl:l. "f' e/
0:70 ‘
Answer: 0, 80
T :
S g S/,{H - '. . o
44, Multiply. &j shid Fioat /7 / 9. [ 2
—_._,____‘_‘_‘___h‘_’?-’jcjlv—{ % ruge
(-2.1)(9.12) e X 2l
I
(-24)9.12)=] | (Type an integer or a decimal.) T
[ T2.5
Answer: - 19.152 -] 9. o=
< ‘/_/1/
- _— — D———— -
_‘_-_‘_‘_‘——_

9 of 53
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45. Multiply.
i - A 97
(-5.99)(-9.7) — _
71 9 3
(—-5.99)(-9.7)= (Type an integer or a decimal.) IS 39 |

Answer: 58.103 ——

46. CTITh
Find the circumference of the circle in terms of x. Then use - 7 (2)
the approximation 3.14 for & and approximate the C < ! e
circumference. C =¥ 217
' - 3 /cf )
a. Find the circumference of the circle in terms of n. < 3o/ “r ( (‘f‘l_,)
The exact circumference is }ft. C [ 3 / ﬁ\,
b. Find the circumference of the circle using 3.14 as an approximation for . 3., ¢
L}
The approximate circumference is !ﬂ. (Round to the nearest hundredth as needed.) X 42
A §
Answers 421 / s ¢
131.88 ~
B L (31,77
47.  Find the circumference of the circle in terms of . Then ol C #2777
use the approximation 3.14 for = and approximate the i \ .22 v C g. 3)
circumference. / \

e

C 2 (319"

C= 2(3.09/(%-3)
. Find the ci f f the circle in t fm g i
a. Fin e circumierence o e circle in terms or C - Z (Zé A 0’6 L/

The exact circumference is yd. - -
C= S 2.2y 3
b. Find the circumference of the circle using 3.14 as an approximation for .

The approximate circumference is ‘ yd. (Round to the nearest thousandth as needed.)

Answers 16.6x

52.124

10 of 53 317/2019. 6:37 PA
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48, A 1-ounce serving of cream cheese contains 9.4 grams of saturated fat. How much saturated fat is in 14 ounces of cream

cheese? !/ _ {__‘t CF'-[
g a-"—:f‘_ ~ : L X /Y
[()e 9.9()y) Cress P 176

Answer: 131.6 N /3/c ( G &
- 73 1.6

et _— | e /s

7
49. The screen of a portable digital device is a rectangle that measures 4.5 inches by 3.6 inches. Find the area of the screen.

<L/ &
The area is | square inches. (Type an integer or a decimal.) ’4 x 3. ¢
A-(q.;)‘(s,c) T 0

———

Answer: 16.2 w (25
B T (a2t T

50. The diameter of a ferris wheel is 150 feet. Find its circumference. Give an exact answer and an approximation using 3.14

for . : .
CzTTh
The circumference is feet. Cz T1(/80)

(Type an exact answer in terms of x.)
C/mom D

The circumference is approximately | feet.
{Type an integer or a decimal. Round to the nearest hundredth as needed.) C - ﬁ D

C,.'_' 3:. /‘V D
471.00 C<3./7 (/ (/ﬁ)

— — (=7l w0 o

51. A meter is a unit of length approximately equal to 39.37 inches, If someone is 1,71 meters tall, what is his or her
approximate height in inches?

Answers 150n

Using the given conversion, someone who is 1.71 meters tall has a height of f inches.
Type an integer or a decimal,
(Typ g } { .7

[

Answer: 67.3227 ’ 39.3 - ~
L S o A Y PR VR T

Il of 53 3172019, 6:37 Py
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o.Q

¢ =UT U7

a. Approximate the circumference of each circle, Use n=3.14.
i <2/ Y

The circumference of the smaller circle is approximately { l meters. C -1(5 / V) f /)

{Round to the nearest hundredth as needed.}

———— e

52.  Consider the circles at the right.

The circumference of the larger circle is approximately meters. = C Cf?’)
G 5 o
{Round to the nearest hundredth as needed.) -z ;({J 70 | ;,
b. If the radius of a circle is doubled, is its corresponding circumference also doubled?
C 2T
O Yes = 9—(3'/‘/) (32)
) No
O « ~2(7%%)
e T
Answers 94.20 G; ( g? o FO \
188.40 gl

Yes

23. Find the decimal equivalent of the {ollowing fraction. @
13 20 (%. 00

20 2D )
S~
13 /O O
Pl S — o)
Answer: 0.65 O /-

54. Solve the following equation. Z 3 (’()( — ._Zl . g Yy
24x=-21.84 .
" 2 Yx _—21.8Y

= : (Type an integer or a decimal.) *Z & - . ”

Answer: - 9.1 @“ — c? ‘—'-m\

I — ———

55. Solve the following eguation, 3 67 "‘f‘ C? / = < 67 2 Q
3.6y+0.1=56y-2.6 3069 ~+ 3T~ / 7 —{ -9/

The solution isf . {Type an integer or a decimal.) 3 Gv = £ 67 _- /, 7
306 ~52¢6 Y =< /.—/J 2

~ STcy

Answer: 5.85 o 2 — - Ir
"/Zi Tl 4

—_—
120l 33 e e g 2056237 PA
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56. Find the mean, median. and mode for the following set of numbers. If nesggsary, round the mean to one decimal place.

17, 26,22, 12, 19 —_— /2 I7| lGi 2, s ;
The mean is L/

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)

The median is !

{Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)

Find the mode. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
O A. The mode is
{Type an integer or decimal rounded to one decimal place as needed, Use a comma tn

separate answers as needed.) /24 {7 _f/c)‘ 287l

() B. There is no mode. -

Answers 19
19

B. There is no mode.

. - e

57. Solve the proportion,

5 x
6 18
- —_ Cruss i é)’é
= (Type an integer or a simplified fraction.) § (’ 5 ) b 6()( )
70 < 6x /57
Answer: 15 G, 64
" S— S = — {’j_ — ____IF:E' SR el .o T S TR T
58,
Medication is prescribed in 4 out of every 10 hospital About l l of these visits would be expected to
emergency room visits that involve an injury. If a large include a prescription for medication.
urban hospital had 940 emergency room visits involving an
injury in the past month, how many of these visits would you & A
expect included a prescription for medication? —
/o 77
Answer: 376 Crs i
_____ — __ _7/’74’0) ~/dn) |
s s

59. Whatis the sales tax on a jacket priced at $275 if the sales tax rate is 7%7?

The sales taxis $ A ,P7‘
Answer. 19.25 ,4 j?. 7> ( 7 ‘QJ)

13 of 53 3172019, 6:37 PV
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60. A stereo normally priced at $299 is on sale for 35% off. Find the discount and the sale price,

The discount is $

The sale priceis $
/,} s

Answers 104.65
194,35

- — -

———

81. Use the information given to draw a vertical bar graph.
Choose the correct bar graph below.

A /~ﬂ/)
A zo,s,_zf‘c;(%m)
$~2¢?/3 )
'\//09461"

RIS 3D Gace i

. *“C‘:':‘_J

Answer:

19701980 19202001
year

14 of 53

) A, O B.
B N
g 400 g 400
w® 300 we 3001
A0 Ao
Sy 200 Sy 2004
% 100 g 100-
= —/
& Oigmismoioeozonn 4 & 0io7019s019902007
year -~ year

_(_zuutj

Restaurant Industry Annual Food and Beverage Sales
Year Sales in Bjlliens.gf Dollars
1970 [ 47\

1980 128\
1990 23 ]
2001 \ 398 /
Oec.
2000
19904
o
#1980+
1970+
196035728 231 398
Sales
(inbillions of dollars)

(9 ¢1)
(/6,50) [t4) ~.
(/Q 70) Z?l)

29¢) /

3/17/2019, 6:37 PN
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62. The frequency distributition of the golf scores for an amateur golfer is shown on [Class Intervals Class Frequency
the right. Use the frequency distribution to construct a histogram. {Scores) (Number Of Games}
60-69 /1\
70-79 [ 4 )
80-89 3
90-99 2/

I ————

F tJ/A. |oe.

~" Which graph below is thé.E‘dmgt histogram?

https://xlitemprod.pearsoncmg.com/api/y Liprint/ma

[ =
5 \ . .
4 4 44
3 | 3 3
2 \ 2 2
1 1 1
0 ) o
E0-69 70-79 80-89 0009 60-69 70-7¢ 80-88 90-09 60-69 70-70 80-89 90-99
Answer:
5
4
3
2
1
0
A.  60-69 70-79 80-89 90-99
e, R i

63.
The circle graph is a result of surveying 800 college
students. They were asked where they live while attending
college. Use this graph to find where most of these college
students live.

Choose the correct answer below.

i

d{_ Campus housin

(O B. Parent or guardian's home
() €. Own off-campus housing
(0 D. Other arrangements

(O E. Off-campus rental

Answer: A, Campus housing

15 of 33

l Parent or guardian's home 280
B Off-campus rental 132
] Campus housing 320

[ Other arrangements 13

B Own off-campus housing 55

S

31172019, 6:37 PNV
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64,
The circle graph shows the number of students at Rockford
College who are enrolled in various majors. Find the ratio of
History majors to Social Science majors.

The ratio is .

(Type an integer or a simplified fraction.)

709
YW

720 (1)
IW0 (3D

1S
3 =
Answer. 1

3

ﬁ/)/wrjg

Saccd YT

https://xlitemprod. pearsoncmg.com/api/v l/printmai

Major and # of Students
[l Business 3900
@ Computer Science 1500
[] Science 1200
[ English 2200

e
(3 History 800>
Il Social Stienca 2300 g

Fat

=

65. The following circle graph shows the relative sizes of

the continents of Earth.

What percent of the land on Earth is accounted for
by Europe and Australia together?

el

C’/@\

e

— S

—

Answer: 12

B Norh America 16%

B Asia 30% 3}
’EI Australia 5% %_._ Y
LY :
B [0 Europe 71_____‘5__

B Antarctica 9%
B South Amenca 12%
( @ Africa 21%

66. The total amount of land of some particular countries is approxi
square riles. Use the graph to find the area of the Country F.

The area of the Country F is approximately

Answer: 7,370,000

16 of 53

square miles.

mately 67,000,000 0] Counlry A 25%

O Country B 23%
B Country C 17%
B Country D 13%
B Country.E 5%}
Il Country F 1%
B Country G 6%

J, OV
/‘{/

67, 00

3/17:2019,6:37 PV
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C @ Adurs rict_iolM—""
O Reference 16% _ir ra A iz"
mohers |

{H Children's fiction 23% | _

8 Nonfiction 25%

687. The circle graph to the right shows the
percent of the types of books available in a
library.

What percent of books are classified as some
type of fiction?

The percent of books which are classified as some type of fiction is %.

Answer: 54

88. |f this library has 248,000 books, find how many books are in the

Nonfiction 25%
category of reference or other? " ' ‘

B Children's fiction 22%
O Adutl's fiction 33%

") Reference 17% éj-“
‘. Olher 3"?: j
79 LA 7000

The number of books in the reference or other category is f_—__! books. £ 2 -2, L__L

Oogoed

Answer: 49,600 W ;,1
69. o - A /4 %g&i__ c '
Find the length of the third side of the right triangle. o Z . ¢
. ((7.) ~+ 2 = C
C 12 Jl—/rycct
22Tt

v

The length of the third side is ]

Answer: 15

e

P

' - ¢
70. Sketch the right triangle and find the length of the side not given. 1~ C°~ ¢s /] — g zj 4 ¢
=33 B ¢ ' <
& BGD% pc €O
The unknown length is : SOYG—+ f2 2: &l2

(Type an integer or decimal rounded to the nearest thousandth as needgd. ¢ &
/(/;’a:'f) 8 o FF T Fes— (075
Answer: 56 S < 3/3 é

(B= 56

17 of 53 3172019, 6:37 Piv
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71. Find the ratio of the corresponding % [ ,-4—- -
sides of the given similar triangles. N } 74
14

245 \ 4 Ve gi
\\/ /6
The ratio of the corresponding sides of the first triangle to the second triangle i |s ! 7 .
(Type the ratio as a sumpllﬁed fraction. ) . ((() s

Answer; 7

4

_‘_-—-_._..—o—'_'_'—-_‘_‘—n— —— e S - - —
72, Given 3 /7 39 G
that the w3
) A /\ /( / i ‘
trlangles . . .
3((7) < X(r=] — G5

5|m|Iar, P
find the 5G < /55X 90
unknown ~
length of é_.—c—{- = f___g;}< td__.(ci '))
the side g —_—
labeled /s - O

with a RN r<_,
variable. ( 3 A _-::_Z_(

= :I (Simplify your answer. Round to the nearest tenth as needed.)

Answer; 3.6
72 _ L7
73.  Given that the pair of triangles is similar, — I q
find the length of the side labeled n. o i 7
s/ Mlw) = v (75)
f2n = Yy
" N 72
— 71 /L
TN
Answer: 6 @::__ ‘é«' o
74. Given that the pair of triangles is similar, find the length of — = €O

the side labeled n.

27(60) = Foln)

an )
: / 6 2o < TGO
e /6 &2 = %)A/
p—— =
o (o

Answer: 18 @

e e ———
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o
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75, Given that the pair of triangles is similar, find the
unknown length of the side labeled with a variable.
v
} osx= T(1g
it ,—-Z i
. 05X .-
The unknown length is | unit(s). \& s L —.)g = s 0-5X=/7¢
1 f‘hwmhfj = : , f%fi}.f /2
Answer: 12 Z{R ey . W £ a L. | s UEEES
e i 1 ) x=77
f —
76. Atriangle is formed by the building's height :
and shadow. Another triangle is formed by ; ':\
the flagpole's height and shadow. Using the g \\
following diagram, find the height of the | \
building. ]: N
1N W
- v 2R
—"ﬁ \\ A
300 5f
The height of the building is feet.
Answer: 120
Yo7
X = =
20 5
fFx< 607
22
-

19 af 33

317/2019. 6:37 PV
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e S
77. Draw a tree diagram for choosing a vowel, {a, e,

possible outcomes.

i, 0, u) and then a number {1 or 2}. Use the diagram to find the number of

O A ) !

1 %: n< 2

- ki

u ]

a

¢ e < pe

2 i ) 3

7N !

R i < 2

N 3

13 ___:) 1

u 0< 2

V .

& 1
N §n u < 2
u 3

Based on the tree, what is the number of possible cutcomes? [:}
L

Answers

[
a <<= v

—

20 0f 33 31772009, 6:37 P
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78.
Draw a tree diagram for spinning Spinner A 2 times. Use Choose the correct tree di
the diagram to find the number of possible outcomes.

Spinner A

KA

@M@ EIR

O
o

Based on the tree, what is the number of possible
outcomes?

L ]

[

[
AN
=
/{:ON '

“~Dm—<Dx <SS

/|

Answers ReZ R

3772019, 6:37 PM
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79,
Draw a tree diagram for spinning Spinner B two times. Use

the diagram to find the number of possible outcomes.
- Spinner B

!

ta

*

/k‘
/fl \
Vo Ee i

7
L)
\

Based on the tree, what is the number of possible
outcomes?

] O ok

L

A
A A

ERTIFE KRR W

s

Lild=  Lafde

-
1]

AN

de '

il e

| A7\
SRR A

—
'l

i’

/

Answers

[N PRVE F R MU R AR R
——
v

/
VYAV

N

2120f 53 3172019, 6:37 PM
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80. Draw a tree diagram for spinning
Spinner A two times and then Spinner
B two times. Use the diagram to find
the number of possible outcomes.

) B.
RED BRANCH R < E;‘i
same as Blue Branch Yellow
4 RE B & B
1 < 5 Yellow
Red
4 Y Blue
1 :"c:lon
+ 1
‘<§ R €< pic
R ~11 ;’clk:\l
cd
< BE-B ol
4 Red
B
| Y< ;eiifm
4< = R B‘
; € \'i‘llli\\
4 Y(-B < B
l <’1 Yellow.
4 Red
Y Bluc
Yellow

A A

YELLOW BRANCH
same as Blue Branch

Based on the tree, what is the nhmber of possible outcomes? |

23 of 53
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Spinner A

/
3

-

i
L™ S 1™ St gl Jm Lad I =

i

-

A

b=

R < Bt
S

£
AN
Red
Y < Blec

Yellow

Yellon
4 &€

Yellow
Red

Y < Blue

Yellow
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